
Ring 

Let R e a aety st on whicho bave 

huo closd bnay qualoy danoad ayi and . 
Then (R, +,) a 

the tollewing condilis, 
(a) a +b b + a 

tb) a+ (b+c) : (a+b)+e 

elment beR with 

a+b= b+a Z. 

d) For each a eR thru son 

e) a,lo. c)- (a.b).c 

m 

() a- (b+c)- a-b+ac 

(c) Thea exub z eR Such that Exilnu d an danl for t 

(btc). a b.a+ cC-a. 

ug 4. tor all ab, c eR, 

salinfid 
commutatve law f+ 

A[Nocfative law + 

aeR 

inNoe unden+ 

Asoialive law . 

pübibulve Laus of 



Dlniam : Intagral domai , gald : 

Let R be a commutative ring with wiy Lan 

(a) Ra callhd, an Sntqval domaÕn 

ho yoionn divisor of |ero 

S 

CA) R S callad a ald 

lement , Ri a unt.i 
NOTE: Jhe víng R D said to have no oonor diVu,Or ee 

3tor alla,be Rab-oa0 (o) bo) 

a,beR >0,bZ 

% 

: Sub ing 

Fon ung (R, +,), a non -

R Bas i Ra, 

R, valítd to sis aring. 

non-ze 

a:z.b:z 

--emny 
s calld a a, Bubing.qR 

4hat e s undon the addulion and multinia 

Sul set 

(s+, ) 



: Ideal 

A non-emty subet I a ring k R 

Lalld a subing g R4 (6,*.y. Ht R 
,s wnden Hhe addilio, and mdihicatin 

R, stitd to s-is aring 



Theorem :2 Pal-95 

Evay gild 

Puoo: Let R de a 

is an intgial domain. 

T0 yeVe R s an ntsqral doman, 

a,b eR with abo, ato then the 

futd 

to ove that it has no zoro' diisos supo. 

exusty a'eR Such that aa' = 

': R has 

Thuorem 3: 

tlene R s on 

domaun 

OY b=O 

no zeTO div soTS 

er 

Phoc: Let (R, +, ) be a 

enoug 

Evey trute inigval doma i a yd 

ab-o 

blob a'lo) 

la a) bo 

integval domaun. a° bt0 

R s a commutatve sung with Ldanity and 

without Zoro divisos . 



clatm 

To rove Ria püld, it is 

to yvove that evey hon: 

Inveye 

Let R. o,t, a,,a, ... Oný: aE 

a a 

Surose a. aj = 0, axjtk ten 
aak a lo;- o) -0 . 

thc hon ZerD and thiy 

enough 

aae 

a. (aj-a)o 8inte a +o, aj = Ok 

Commutateve 

are disint elments n R.: 

uhich î a conadicliom to the fat that a 

ae 

funuta ,thuse n elemunts ae ane 

as the h non- zoD elements un R Boe orden 

Some ; eR. sinu R s 



.. Evey non - zeo, clemnt in R has 

maltjlicalive nvou 

Tuoem 1: 

Jhe furdamuntal thuonlm homoynhisn 

Let R and R ungs ond:Rg' on 

eFímephism gi . Lot kbe the keinel Then 

æ) To yNe 

R ande and :R 

Then be kta, 

dafuned et k tb:k+a 

.. b= k+a, whe k Ek. 

{la). g9) 

la)-3la) 



{las)glo)3160 

Henu d (k a) la): a' 
Such that ga): 

a' 

Sinu 2s onto, there ensts a eR 

for, let a'eR, 

Us on tD (ii) claim 
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